ENMREDST SH2EE TEsciz
A B B SR R Vv A B
4 7 B |EEERER<SSSFIZDONT(EE) R ESRCSSSFIZONWTEE) BEREBERSSSFIZDONVTIEE) BERESSSSFIZDONT(EE) R ERCSSSFIZDOVWTETE)
15| & |RBER<LINERZ BES<LINESSE HES<LINESSE> BES<LINESSE HES<LINESSE>
5 29 % [EGRRERJLINERE> iR B R<LINER > iR B R<LINES S ERIF R B R<LINERE> R R B S<LINERE>
31 B |BXEHEREREFEE) BEHERCEEG) BHEBERCEEG) BXEEx(EREE)
6 Lt |BU—IRITEESER B1)—JETREREHR) B)—JETREREHER) B —JETEERER) B —JRITEEEEHER)
7 B |BE=EXEFE FE(EE=RMNEEENR) BERE VSERMWHYH) HERE VSERWHYH) BE(EEEMNEEENR)
6 14 H |[HEREXREFE BEROIL—YI—=2) BEROIL—YIN—=)) BESEREE) HEESERFEE)
21 B |BERERFE) #EHRE VSEACEOGF) #EHA VSEERCEAGF) BESXEREE) #EHE VSEREAOGF)
28 B |BERERFE) BEE(TIL—YI—2) BER(TIL—YIN—Y) BESERAE) FEESERFAE)
4 + TN RFRCAKTE)
1RE 4-0 FE 1FE 0-3 75K
5 B |BE<EXEFE BEHE VSERWHY H) By—45 2E 8-1 £H HESEREE) B1—5 1BE 3-0FK
12 B |BE<EXREE BESEREE #ESEREND) HESEREE) BESEREE)
; 17 % B4 - 1LEL - RE SR — (B RF) | 556 - WAL - R Ethigi T — 4 (B AF)
BESLINESS> HESLINESS BESLINESS> BESLINESS BESLINESS
19 B HESEREE) BESEREE) HESEREE) BESEREE BESEREE)
JFARZEY = 7REFEGER JFAZEL =7 REFEFER)
%6 B HESEREE) BEEOIL—YI—D) BWEROIIL—YIN—) BES(HERE) BESEREE)
SRI—FT4UT(ERFE)
2| B |BE<EXREE BEIYF vsEREEEMNEEELE BETVF EREEEINEEELE HESBEERE) BERERFE)
9 B |BEREXEE #ESEREND) #ESEREND) HESEREE) BESEREE)
16 B HESEREE) BEEOIL—YI—) BWEROTIL—YIN—) BES(HERE) BESEREE)
8 REEZI—TAVTEREE)
23 B |HERERFE) BEEOIL—YI—) HEROIL—YI—2) B1)—4 {2E 0-0 R HEASEREE)
29 % |ERRE-ILEL-REFHhEIIR—J GAA) #fE - 1LEL - REFHhIE 3SR —F (A K)
30 B [BERERFE) HESEXREND) BES(EXREND) B)—45 ZFE40ELTE BESEREE)
6 B |BE<EXEFE BESEREE BESEREE) B)—45 FE55-0=8 B1—4 2E 0-1 B&FF
13| B |BEREX) BES(EX) BES(EX) B—4 12E -3 EHE B)—45 EE02EXEH
9 19 & [RBEL<LINERE> HESLINESS HESLINESS BESLINESS BESLINESS
20 B [HFE=(SGFEN) #EL(SGFTEO) BETYF vsEEH(SGFFEN) #EL(SGFTNO) B1—5 12E 2-1 5[
27 B [BEE(EX) BES(EKX) BES(EX) B)—45 EEI-0EL BES(EX)
3 £ |R&U—Y TEHER 1-4 hERE
4 B BESEKX) BES(EREX) BES(EX) BES(EX) B1)—4 2E 0-0 K
11 B [BU—5 BEER 1-1 hFaEf B1)—4 BE0-1 X BESTa/\Z1) BE<EE) BETYFvsERH-VYI/NTINALE)
17 £ | KBRS =7F—T2U5)-U4R)
10 | 18] B |KRS=7F—T2U5)-U1R) BES(EKX) BES(EX) BES(EKX) BES(EX)
21 K |BERTREEIE BB BB W
24 + |BY—5 BEER 3-2 R B1—5 RE 0-2 FK
25 B |HEREX) HEESEREX) B1)—4 {2E 2-0 EE B1)—4 2E 5-0:8% HEEAERTED)
31 x |BY—5 FEER 0-2 hEEER B)—4 1RE 2-0 HE
1 B |BEX(EX) BES(EKX) BES(EX) B1)—4" {ZE 10-0 7ALBiZ B)—4 {2¥E 1-0 BH




A B B SR R Vv A B
4 K |REXFREGEN)IE BB REENNED BB W
8 B [RU—5 TED 4-0 HER B)—4 RE 1-0 i B1)—4 {2E 8-0BE BES(EKX) BES(EX)
13 £ |#ME-LE- REMEREY—J(EM) %M L3 EHhERH)—7 (8
14 + |BRY—IRITRERER B —JETEERFEHER B RITEERFER) B RITEERER) B RITEERFER)
11 15 B [#E&(EX) HERXEREX) BES(EX) BE=(EX) BER(EX)
18 K [EBEZREEN)IEH) HEZREEEE BESEREFE) HEXERXRFE) B)—45 2E 11 EH
20 £ |1REB4£-SSSFEITEESEE) HKESL-SSSFETEESLEE) KREL-SSSFETEELEZE) BES-SSSFEITEESETE) HKEL-SSSFEFTEELEFE)
22 B |BY—4 TSR 1-2 hERE B)—4 RE -0 HE BES(EX) BES(EX) B)—5 RE -1 BEE
28 T |EBREBSBITEEERLE) EBEREESBITAEERLE) E%%%%%%ﬁ?ﬂﬁﬁﬁ(t“xi%) ERREBIEITAEERLE) EBEREHFNBITEEERLE)
20 B [HELEX HEREREX) G EHRERO2  gEaEK) HEREX)
5 + |EBIXRE AEERTOSGFEO) EENKFHE »EEEI0(SGFFO) BE<yF vs BERBR(SGFED)
6| B |2EAXRS EHXRAS HEL(SGFEO) #EL(SGFEN) #E < yF VSEERRS0(SGFFEA)
9 K |EEXFTSEN)IE) BB REENN3E) BRI
12| 13 B |BES(EX) BER(ERX) BEX(EKX) BER(ERX) BEX(EKX)
19+ |BUMOIRR BB HEWHYH) | BYMHZRERvs=A - F 7B HYH)
20 B |937BYMH=HYSH) 95TBYMOEPHY ) 95 TBYMO P HY H) 95 TBUMOEDHY H) £EVITERRREH BE-2KE
27 B |BER(EX) BERERX) BER(ERX) BERERX) BER(EKX)
10 B |#IBYEEXREEG) VBY(EEKREEG) VBY(EEXEEG) VBY(EEREEG) VBY(EEXEEG)
17 B |BEREXEE) HEERERFE) FEEERTD) BEESEREE) HEESERFAE)
1 22 % |1REL-SSSFEITEEREREAE) RER -SSSFEITEEREREE) RER -SSSFETEEASEREE) REL -SSSFEITEEREREFE) REL SSSFETRAREBEREE)
24| B |BER(EX) BER(ERX) BEXEKX) BER(ERX) BER(EKX)
31 B |BER(EX) BERERX) BEREKX) BERERX) BER(EKX)
7 B [HEER(EX) BER(ERX) BEX(EKX) BER(ERX) BERX(EKX)
14 B [#E4(EX) BER(ERX) BER(EKX) BER(ERX) BERX(EKX)
2 19| & |SSSFETREREE) SSSFEITEEREF) SSSFETEEREE) SSSFEITEE=EF) SSSFETZEREE)
21 B |BEREX) BER(ERX) BEX(EKX) BER(ERX) BERX(EKX)
29 B |BER(EX) BERERX) BERERX) BERERX) BEREKX)
3| /K |EREFSSSFRITEEREREE) [GHSSSFETRASEREE) HESSSFEITEZEEREREE) MHIESSSFERITEEREREE) HHESSSFETZEEAREREE)
6 T RAYAE Y EFEZEL(REER)
7 B [HFER(EX) BER(ERX) BEXEKX) BER(ERX) BEX(EKX)
14 B [#E4(EX) BER(ERX) BEXEKX) BER(ERX) BER(EKX)
3 19 £ [REL -SSSFEITEES(EREE) RES SSSFEITEAELSEREE) REL SSSFRITEESERAE) RES -SSSFERITEER(EREE) RELX -SSSFEITEELEREE)
200 £ [EKA—INR—L =T RECEKEEER) FHKR—/IR— =27 KRECEKIER) [EKR—/8—L =27 KREGEKIATYT)
21 B [BKA—NR—Y =7 RKEGEXRDIE) FAKRXR—/IR—YZFREGERPILE) FHKRX—/IR—L =27 RKEGEXRS L)
27 & |RU—TETRESHER B1)—JEZTREREHR) B)—JETREREHER) B —JE TR EREHR) B1)—JETREREHER)
28 B WBRERFE) BEEREE) BRERFE) BEEREE) BRERFE)
FEESERFAE) HEESERAE) FEESERFE) HEERERFE) HEERERFE)




